Seventh semester B.E. Degree Examination, May/June 2010 06EC71
COMPUTER COMMUNICATION NETWORKS
Time: 3 hrs Max. Marks:100
PART-A
1 a. Explain OSI model, with a neat block diagram. Consider a source, destination machine and
some intermediate nodes for discussion.(10M)
b. How addresses employed (used) in internet employing TCP/IP protocol can be classified?(2M)
¢. What is DSL technology? List the different DSLs available. Discuss salient features of
ADSL. (8M)

2 a. What is framing? How frames can be classified? Explain bit stuffing with the help of an
example.(6M) &

b. What is the meaning of datalink control? Explain stop-and-wait ARQ, using a suitable blo

diagram.(10M) °
c. In a stop-and wait ARQ system the bandwidth of the line is 1Mbps and 1 hit take
make a round trip. What is the bandwidth delay product? If the system data frg ﬁ 0

bit in lengths, what is the percentage utilization of the link? (4M)

b. A network using CSMA/CD has a bandwidth of 10 Mbps. If th m Propogation time
is 25.6usec, what is the minimum size of the frame?

c. Explain token passing method of controlled acces
d. What is channelization in the context of multip %
C 9

channelization techniques? List the propefti
4 a. Explain 802.3 MAC frame format.(6M)
b. An ethernet MAC sublayer receives ata from upper layer. How many bytes of
padding must be added to the
c. Explain two different kinds of serWi

d. What is fast Ethernet? ExpldiQ a
design of fast Ethernet.(

3 a. A slotted ALOHA network transmits 200 bit frames using a shared w’ﬂ 200 kbps
bandwidth. Find the throughput if the system produces 500 fra&

ethan eRGM)
are the various available
| sequences used in CDMA. (8M)

efine in IEEE 802.11 (6M)
otiation. What are the purposes of using this feature in
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5 a. What are the fivediffe ategories of connecting device, based on the layer at which they operate
in a network? in each of them. (10M)
b. Differenti a bus backbone network and star backbone network. (6 M)
of VLAN, in brief. (4M)

6 a. he need of transition from IPV4 to IPV6? What are the strategies deviced by IETF
t e transition? (12M)

b. Find the error, if any, in the following IPV4 addresses:
1) 75.45.301.14 2) 221.34.7.8.20 (2M)

c. What is classless addressing in IPV4? What is a mask? Explain. (6M)

7 a. Explain Dijkstra algorithm. Apply the same to node ‘A’ of the graph shown in Fig.7[a] and
prepare routing table for node A.
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Fig. 7[a] Topology of network

b. What is tunneling in case of multicast routing? Explain multicast backbone of routers using Q
concept of tunneling? (6M)
¢. Write in brief, any four applications of multicasting. (8M)

)
8 Write short notes on any two of the following: \
a. UDP
b. TCP segment format
c. IPV4 datagram format. (20 M)
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